
cfof]hgf lgdf{0f ;Demf}tf u/L kfpF egL sfof{nodf k]z u/]sf] lgj]bg 
 

ldlt @)    .==== .====== 
>Ldfg\ k|d'v k|zf;lso clws[tHo", 
ynf/f  ufpFkflnsf, ufpFsfo{kflnsfsf] sfof{no, 
vf]nL, aemfª . 

ljifo M आयोजना िनमाᭅणका लािग स᭥झौता गरी पाउँ । 
dxf]bo, 

pk/f]Qm ljifodf xfdL aemfª lhNnf ynf/f ufpFkflnsf j8f g+= ===,    ===============6f]ndf a:g] afl;Gbfx?n] 

txfF ufpFkflnsfaf6 ljlgof]lht ePsf] ah]6 cg';f/ ljsf; lgdf{0fsf] sfd ug{ j8f cWoIf . ;b:osf] /f]xj/df 

;/f]sf/jfnsf] e]nf u/fO{ ynf/f ufpFkflnsfsf] pkef]Qmf ;ldlt u7g, ;~rfng tyf Joj:yfkg sfo{ljlw, @)&% 

cg';f/sf k|fjwfg k'/f u/L ============================================================ gfdsf] pkef]Qmf ;ldlt u7g u/]sf 5f}+ . 

o; pkef]Qmf ;ldlt kbflwsf/Lx? /fhlglts bnsf] k|ltlglw, axfnjfnf ;/sf/L sd{rf/L÷lzIfs jf lgdf{0f 

Joj;foL gePsf] / ;/sf/L k]ZsL jf a]?h' km5\of}{6 ug{ afFsL g/x]]sf], s'g} :Jffy{ gaflemPsf], g}lts ktg b]lvg] 

kmf}hbf/L  cleof]udf ;hfo gkfPsf], ;fj{hlgs ;DklQ lxgfldgf gu/]sf], s'g} klg kbflwsf/L Ps eGbf a9L 

pkef]Qmf ;ldltdf g/x]sf] / Psf3/ kl/jf/sf Ps eGbf a9L ;b:o Pp6} pkef]Qmf ;ldltdf g/x]sf] 7Ls ;fFrf] xf].  

cfof]hgfsf nflu ?= =================== ljlgof]hg ul/Psf]df k|fljlwsaf6 pQm cfof]hgfsf] nflu nfut 

cg'dfg ?= ======================== tof/ eO{ :jLs[t ePsf] x'Fbf ljlgof]lht ah]6 dWo] $ k|ltzt sG6Lh]G;L 36fO{ 

?====================== ufpFkflnsf4f/f a]xf]g{] u/L afFsL ?==           xfdL :yfgLo nfeu|fxLsf] hg;xeflutf h'6fO{ 

ldlt @)    ÷   ÷   ;Dd ;DkGg ug{ tof/ 5f}+ .  ;f] cfof]hgf  lgdf{0fsf] sfd k|rlnt sfg'gsf] clwgdf /xL 

tf]lsPsf] Dofb leq ;DkGg ug{]5f}+ . tkl;nsf sfuhft ;+nUg u/L lgj]bg k]z u/]sf 5f}+ . l/tk"j{ssf] ;Demf}tf 

u/L kfpg cg'/f]w 5 . 

;+nUg sfuhftx? M 

!=  cfof]hgf :yndf  pkef]Qmf ;ldlt  u7gsf] lg0f{osf] kmf]6f]skL  

@=  pkef]Qmf ;ldltsf] lg0f{osf] kmf]6f]skL  

#=  pkef]Qmf ;ldlt u7g ug{] e]nfsf] kmf]6f]x?,sfd ;'? ug{'k"j{sf kmf]6f]x? 

$=  pkef]Qmf ;ldltsf kbflwsf/Lx?sf] gf=k|=k=sf kmf]6f]skLx? 

%=   j8f sfof{nosf] l;kmfl/;  

^=   :jLs[t nfut cg'dfg -Ol:6]d]6_ 

&=   pkef]Qmf ;ldlt u7g k|ltj]bg 
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